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INDETERMINATE FORMS AND L'HOSPITAL'S RULE 	 SEPTEMBER 15, 2015 
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1. Evaluate the limits (answer either a number, –oo, oo, or DNE). 
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2. Evaluate the limits (answer either a number, –oo, oo, or DNE). 

((ASV\ X (a) lim sinh 
x 
 -. \\\•l\ 	 = 04) x–c.o X 	.4.-1 CA 

(b) sinh  x 

S----)) 
F 

0 - 

 

(c) cosh x 
x–>-) X2 

 

.\\\ vI 	?u1Os•\1 /44- 

\Y\ck6-e-f 

(d) lim 
cosh x 	‘)m  S W\ keN 

x– oo X2 	
)(4 04 	)C 	y.-17 

(.0 	I  

Gushl. 
9— 

00 

(e) lim 
X — CK) 

tank x 
--- 0 

I 	Yuri- 	■&/•■\/ 
00 



3. Evaluate the limits (answer either a number, -oo, oo, or DNE). 
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